
SAP ABAP table TKA12Z {Switching Structure: Cost Component Iteration and Assignment}

TKA12Z

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

SWSMH [CHAR (3)]

ELEMT [NUMC (3)]

SWELE [NUMC (3)]

T000

MANDT [CLNT (3)] TKA12Z-MANDT = T000-MANDT 0..N

0..N

TCKH3

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

ELEMT [NUMC (3)]

 TKA12Z-ELEMT = TCKH3-ELEMT 
0..N

0..N  TKA12Z-SWELE = TCKH3-ELEMT 0..N

0..N

TCKH4

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

 TKA12Z-ELEHK = TCKH4-ELEHK 

0..N

0..N

TKA12

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

SWSMH [CHAR (3)]

 TKA12Z-SWSMH = TKA12-SWSMH 

0..N

1


